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QUESTION 1

Which type of BGP is used to peer with a different autonomous system?
A. external

B. classless

C. dynamic

D. static

Correct Answer: A

QUESTION 2

Click the Exhibit button.
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userflawitchl> show spanning-tr=e mstp configuration
MSTP information

Context identifier : 0O

Region name : MSTP-TEST

Revision = 1

Configuration digest : Oxd41dTceffZ7dfBac51350507eelalafl

MSTI Member VLOAN=

0 0-%9, 1i-149, 21-28, 31-38, 41-49, 51-4004
10, 20

30, 40

50

[ T L I

userfiswitchiZ>» show spanning-trze m=stp configuration
MSTP information

Context identifier : O

Region name : MSTP-TEST

Eevizgion : 1

Configuration digeat : Ox41d7ceffZ27dfRac51350%07eelalafz

MSTI Member VLON=

0-%, 11i-1%9, 21-2%5, 31-38, 41-4%, 51-40504
10, 20

30, 40

30

[N T e B

uzserfawitchi> show spanning-trze m=stp configuration
MSTP information

Context identifier : O

Fegion name : MS3STP-TEST

Revision = 1

Configuration digeat : 0Ox4ld7ceff27dfBac51350907=elalaf2

MSTI Member VLAMNS

0 =8, 13134, 21-39, 41448, 514004
1 10, 20, 30

2 40

i 8 a0

You have three switches, each with a trunk connection allowing all VLANS to the switches. CIST will converge, however
MSTP will not.

Referring to the exhibit, which statement is correct?
A. Switchl is the CIST root bridge.

B. Switch2 is the MSTI root bridge.
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C. Switch3\\'s contest identifier must be changed.
D. Switch3\\'s configuration digest is different than for switch1l and for switch2.

Correct Answer: D

QUESTION 3

Computers on the network are assigned IP addresses from DHCP server based on the MAC address of the computer.
The network administrator wants computes assigned to a VLAN using the computer\\'s IP addresses, regardless of
where the computers are plugged into the network.

In this scenario, which two statements are true? (Choose two.)

A. The MAC RADIUS feature can query a RADIUS server to dynamically assign a VLAN to a host based on its MAC
address.

B. DHCP snooping can be enabled to determine with which VLAN a device should be associated when it receives an IP
address.

C. 802.1X authentication can query the DHCP server to identify the VLAN that a device should be assigned.
D. 802.1X authentication can assign a VLAN to a device based on the user that is logged into the device.

Correct Answer: AD

QUESTION 4

What are two OSPF LSA types? (Choose two.)
A. Stub

B. Router

C. Transit

D. Network

Correct Answer: BD

QUESTION 5

Click the Exhibit button.
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{master:0)] [edit]
userflswitch# show interfaces ge-0/0/1
native-vlan— id 20;
unit 0 {
family Ethernet—-switching {
interface—-mode trunk;
vlan {

membhers [20 wvoice];

[—

{master:0)] [edit]

userfiswitchf show protocols 1lldp—med

{master:0} [edit]

ugerfawitch# shew awiteh— options

{master:0)] [edit]
userfiswitch# show wvlans
data {
vlan—-id-20;
l3-interface irb.20;

}
vaice {
wvlan—-id 30;

You have a workstation and VolP phone connected to port ge-0/0/1 on an access switch. Referring to the configuration
shown in the exhibit, which statement is true?

A. The phone will require a manual VLAN ID configuration.

B. Untagged frames that enter the switch on interface ge-0/0/1 will be dropped.
C. All frames that leave the switch on interface ge-0/0/1 will be tagged.

D. The phone will not be able to communicate over the network.

Correct Answer: C
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